Name: (3—D|g|’r by 1—D|g|’r>

CMuIﬁpIicaﬁon)

a. 437 x 2 = e. 356
X 6

f. Arestaurant ordered 8 bushels of
b. Find the product of 284 and 5. apples. There were 125 apples in
each bushel. How many apples
in total did the restaurant order?

Preview

Please log in fo download
the printable version of this worksheet.

g. Complete the table.

Input Output

182 546

answer: 187
192

d. 197

8 2 3 Rule: Multiply by 3.
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ANSWER KEY

a. H37/ x 2 =

(3-Digit by 1-Digit )

(Multiplicaﬁon)

1
437/

874 N :33

823
x Yy

3,292

Rule: Multiply by 3.
22 2 22
187 192 197
x 3 x 3 x 3
561 576 591

KH
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